
 

 

 

 

 

 

 

 

 

 

 

 

 

Bug #1: As you can see the highlighted path, path 32, the label that gets imported does not agree with 

the actual path information in the box.  It looks like it should go Ni_1, (+), O_1, (+); but the information 

in the box is totally different and agrees with path 35.  I am not sure which one is correct.  

Path numbers 

do not match. 

Scattering paths 

do not match. 

The labels agree 

with each other, 

but not with the 

other info listed. 

This info is 

different from 

the label, and I 

don’t know 

which one is 

correct. 



 

 

Bug #2: Some path information, usually for the longer paths, doesn’t even get imported. 

Path information 

was imported; it 

is not correct, 

but it was 

imported at 

least. 

Path information 

was not imported 

at all. 


